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0243 20ilaF ekl M
A HOHISKIN
M Zoje SXNSH
Rl ZoHe! SXSA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ZOHRI =Xt 293,815,203 262,352,426 31,462,777
= 222,125,756
== 66,689,447
= 5,000,000
Fofel SXSH 293,757,163 262,295,349 31,461,814
= 222,125,756
< 66,631,407
= 5,000,000
ol XS 68,175,838 65,805,496 2,370,342
= 55,381,710
== 12,794,128
gofelis 50 K= 51,084,166 50,354,013 730,153
= 45,255,391
< 5,828,775
308 AHAIEMSOIE 51,084,166 50,354,013 730,153
= 45,255,391
= 5,828,775
01 HAHHBSEXS 51,084,166 50,354,013 730,153
OIS 51,084,166
= 45,255,391
= 5,828,775
F=0Ix) = 8,418,831 8,017,934 400,897
= 6,476,024
== 1,942,807
308 AHXIEMSOIH 8,418,831 8,017,934 400,897
= 6,476,024
< 1,942,807
01 HAHHBSEEXS 8,418,831 8,017,934 400,897
OFUM=E(I=x) 8,418,831
= 6,476,024
= 1,942,807
=2 (R S) X= 4,459,600 4,247,238 212,362
= 3,430,461
=S 1,029,139
308 XXM SOIH 4,459,600 4,247,238 212,362
= 3,430,461
< 1,029,139
01 XN BSELS 4,459,600 4,247,238 212,362
OZM==L (9 S) 4,459,600
= 3,430,461
== 1,029,139
ZOHQ! e XA 1,425,907 1,358,006 67,901
308 AFAIEHMSOIE 1,425,907 1,358,006 67,901




A HOHISKIN
M Zoje SXNSH
Rl ZoHe! SXSA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 XN B2 LS 1,425,907 1,358,006 67,901
OF0He! MEXFXA (=Y S XIY) 1,425,907
Fofeletres N 713,154 503,003 210,151
201 er23y| 14,000 6,503 7,497
01 AtR2t2|HI 14,000 6,503 7,497
ool Ws & A4S 22 A QY
S 14,000
307 212+01& 336,100 322,500 13,600
11 AMRISXAEEES 336,100 322,500 13,600
OFoperele At 40,000
OHHel stsZEaA 38,000
OHMFEE JIEdA & U2AXH 134,100
OO =RIAIE XIS 77,000
Ogge! Dl=XSHAIR XA 17,000
OUSAID Y 2SS 30,000
308 AHXIEMSOIH 156,500 60,000 96,500
01 XN BSELES 156,500 60,000 96,500
OAIZHOHAISH S SAA K& 101,500
OAlT Z0Hel & AIESAR S KA 55,000
402 2I2FXH=201H 94,554 94,554
01 QI X2 AL E R (KM TH) 94,554 94,554
Ok ZOoHeleH JIsEd 94,554
403 AXIEHHSAH=0l 112,000 114,000 22,000
01 AXISHHA=2 2L 112,000 114,000 /2,000
OAIZZHOHRIEHH JIs2Z AL 112,000
N WS AL 10,000 10,328 N328
307 elzto| & 10,000 10,328 N328
1 AMEISXAIEEXS 10,000 10,328 A328
OHOHHY oA WS 10,000
HEE0e WX 218,600 172,824 45,776
= 91,000
= 127,600
307 212+01& 218,600 172,824 45,776
= 91,000
=S 127,600
10 Al SXAEEHE 22X 168,600 138,260 30,340
OGIEZ0Hel WAt (2HI) 168,600
= 70,200
< 98,400
1 AMISXAIEEXS 50,000 34,564 15,436
O A Z0HS! WA (ArHI) 50,000
= 20,800
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2A:

M Zoje SXNSH
Rl ZoHe! SXSA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
308 XXM SOl 7,0% 7,05
01 XN BELES 7,056 7,0%6
OAIZH OIS X HEHSAL XIS 7,0%6
el XX 180,747,471 137,620,185 13,127,286
= 122,221,101
= 28,526,370
JOHAXSIHEAE 2 2,481,284 2,112,189 369,095
307 @12t0| & 11,475 11,475 0
11 AMISXAIEEX 11,475 11,475 0
OS48tm, HONIXATHEAIL S
L= 11,475
308 XXM SOIA 2,094,809 1,890,714 204,095
01 XN B2 LS 2,004,809 1,890,714 204,095
OHMAXNL AL 2SN 1,989,569
OHMINEMEANE SSEMUES+Z 27,360
OZ AT HEAIE SAEL FAHSAHI 47,880
OHMAMLTHEAIE &Rz S 227
29 A& 30,000
403 MR SHHMSAH=01H 375,000 210,000 165,000
01 AXISHHA =2 £ 375,000 210,000 165,000
ONdZEAUES XA MU= JHE 375,000
JOHAMSIHEAIE JIS2S 1,846,515 733,090 1,113,425
= 1,166,010
= 680,505
403 AXIEHHSAH=201H 1,846,515 705,290 1,141,225
= 1,166,010
= 680,505
01 AXIEHM A= 2 £ 1,846,515 705,290 1,141,225
OZMHAXNLTHEANE JISES 1,749,015
= 1,166,010
=S 583,005
OTMHAESHAH JISE2(XHA) 97,500
ZHOHQIMAZTIHAIE XIR(2) 189,952 175,293 14,659
= 75,981
= 113,971
307 21201 & 189,952 175,293 14,659
= 75,981
= 113,971
10 Al2ISTIAIEEE 22X 189,952 175,293 14,659
OF LS HUHAIE 2 189,952
= 75,981
s 113,971
ZHOHQIMAZTIHAIE XIR(Z) 14,265 12,345 1,920

~
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SN &

A ZoHel SXSE
el ZOoHe! X (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
307 212+01 A 14,265 12,345 1,920
10 AISIS XA EEE2IHIE R 3,360 2,400 960
O OHI MASHOHAIE SALA HAZAlH| 3,360
11 AL =SXAMEES 10,905 9,945 960
O=SHMCIMAS HIlEAWS L EE 10,905
ZoHel KtelMe XA 566,580 480,340 86,240
307 2I2+0l™ 444,000 400,000 44,000
10 Al = XA EHE2FHIE X 364,000 319,800 44,200
OZOHI X HMEXAHE 2HH(Z) 364,000
11 AL SXAMEEER 80,000 80,200 A200
OO X ME X AHE AFHHI(E) 80,000
308 AHXIHMSOIH 122,580 76,140 46,440
01 IXSHHBLEERS 122,580 76,140 46,440
O=3E0Me! et e K& 122,580
SIS MEME XIR 476,370 466,405 9,965
= 328,532
& 147,838
308 AXISHMSOIH 476,370 466,405 9,965
= 328,532
& 147,838
01 IXSHNHBLEXRS 476,370 466,405 9,965
OO XIS ME X AHE X2 (AlZ) 476,370
= 328,532
& 147,838
ST 582X & =IOt NH 4,931,913 4,757,085 174,828
308 AXISHMSOIN 4,931,913 4,757,085 174,828
01 AIXISHNHBAEERS 4,899,913 4,725,085 174,828
O=3HMe =38 & IR 4,899,913
13 SI|2ASHICHEHE A XL EFALIH] 32,000 32,000 0
OsSHMe! 2s2x XA (FIh) MR
Hed 32,000
Zope! eskd=20 XA 90,372,961 90,372,961 0
= 80,077,308
= 10,295,653
308 AtXIHMSOI & 90,372,961 90,372,961 0
= 80,077,308
= 10,295,653
01 XAIXISHHBAE LS 90,372,961 90,372,961 0
O&el e=sXd=20 K& 90,372,961
= 80,077,308
& 10,295,653
22X Jh20 1,600,850 711,130 889,720




SRR

M mojol =XSA
ol Zone!l XMEXd (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 1,418,475
=S 182,375
308 XXM SOIA 1,600,850 711,130 889,720
= 1,418,475
== 182,375
01 XN BSELES 1,600,850 711,130 889,720
OgsEx SN 1,600,850
= 1,418,475
S 182,375
22T S32H WSAE 106,450 106,450 0
307 @I2t01 & 106,450 106,450
03 M EE2SHIEx 106,450 106,450
Oggde S3=A2 W= 106,450
LT RN 97,057 97,057 0
= 86,000
== 11,057
308 AHXIEMSOIH 97,057 97,057 0
= 86,000
== 11,067
01 HAHHBSEEXS 97,057 97,057 0
Ogadie FRAEAA 97,057
= 86,000
= 11,057
NSLSHOIXRME 29 X 548,000 538,000 10,000
= 274,000
=S 274,000
308 XXM SOIH 548,000 538,000 10,000
= 274,000
== 274,000
18 SIS0t HAS A 548,000 538,000 10,000
OXSLLHMAXNZAH 2 XA 548,000
= 274,000
& 274,000
ZOHOF JtE 2=KIE 4,164,823 3,651,707 513,116
= 2,915,376
= 1,249,447
307 elztol & 4,164,823 3,651,707 513,116
= 2,915,376
=S 1,249,447
11 AMEISXAEEES 4,164,823 3,651,707 513,116
OZ0fot 15 =X 4,164,823
= 2,915,376
& 1,249,447

»
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SN &
X XH -
[ I

=aak

SA - ZE . BR(8) - HRAR - BES of v e HIDE2

SETHEMHIA BIRH X 5,762,996 5,079,384 683,612
= 5,106,452
== 656,544

308 AXIMSOIA 5,762,996 5,079,384 683,612
= 5,106,452
< 656,544

01 HASHHBAEEXS 5,762,99% 5,079,384 683,612
OYEMEAMEIL Bi2X X 5,762,9%
= 5,106,452
= 656,544

AN HRH K& 43,031 43,031 0
= 38,129
=S 4,902

308 XXM SOl 43,031 43,031 0
= 38,129
< 4,902

01 XN BSELES 43,031 43,031 0
OcoEaX& B2 Xd 43,031
= 38,129
= 4,902

AZHEOH QI QFOFAMIIFA AL 1,118,000 911,141 206,859
= 894,000
= 224,000

307 glztol & 1,118,000 911,141 206,859
= 894,000
s 224,000

11 AMEISXAIEEE 1,118,000 911,141 206,859
O32E AZZ0HIQHOAF THA 1,118,000
= 894,000
[ 224,000

ZOoHI LKl XI& (SXILX2l) 3,549,000 3,333,967 215,033
= 2,730,000
= 819,000

308 AHXIHMSO0IA 3,549,000 3,333,967 215,033
= 2,730,000
= 819,000

01 AXNB 2 LS 3,549,000 3,333,967 215,033
Ol =X LXtel X2 3,549,000
= 2,730,000
== 819,000

ZOHel LB (MR X2l A 9,379,500 8,244,600 1,134,900
= 7,215,000
= 2,164,500

-
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SRR

X XH -
o=

ol Zone!l XMEXd (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

308 XXM SOIH 9,379,500 8,244,600 1,134,900
= 7,215,000
== 2,164,500

01 XN BSELS 9,379,500 8,244,600 1,134,900
OZoHel et (ML) LXiel K& 9,379,500
= 7,215,000
S 2,164,500

ZOHQ! LB (AIZMA) X2l K& 2,617,500 2,107,300 510,200
= 2,065,000
= 562,500

308 XtXIEMSO0IE 2,617,500 2,107,300 510,200
= 2,065,000
=S 562,500

01 XN BSELES 2,617,500 2,107,300 510,200
OZoHel LB (AIZIAI) X2l XI& 2,617,500
= 2,055,000
[ 562,500

LETHALAZS AL BRAY 630,500 510,110 120,390
= 485,000
= 145,500

308 AFAIEHMSOIE 630,500 510,110 120,390
= 485,000
= 145,500

01 AXEH B2 LS 630,500 510,110 120,390
O2LHMILLESAI EXZAMY 630,500
= 485,000
== 145,500

LR IIEEFAXA 188,571 158,571 0
= 111,000
= 47,571

307 @120l & 158,571 188,571 0
= 111,000
= 47,571

11 AMRISXAEEES 168,571 188,571 0
OZLHML IIEFARE 188,571
= 111,000
= 47,571

=354 HIEXZ 209,100 209,100 0
= 167,280
< 41,820

307 gl2to| & 209,100 209,100 0
= 167,280
= 41,820

@
|




SRR

M Zoje SXNSH
el Z0He AsAdE (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 AMEISXAEEES 209,100 209,100 0
Oggdie ss=AX 209,100
= 167,280
< 41,820
22 FRUSXE 66,000 66,000 0
= 33,000
= 33,000
307 21201 & 66,000 66,000 0
= 33,000
= 33,000
11 AMEISXAEEES 66,000 66,000 0
OLL RO AR 2RNS 24,000
= 12,000
s 12,000
Odoldat)| LEIE d24s 24,000
= 12,000
S 12,000
Od od u=s 18,000
= 9,000
= 9,000
LEHQ FHESAHHIA X 12,453,786 8,683,342 3,770,444
= 11,035,000
< 1,418,786
308 AXIMSOIA 12,453,786 8,683,342 3,770,444
= 11,035,000
S 1,418,786
01 HASHHBSEXS 12,453,786 8,683,342 3,770,444
OgLHel F2EsAEA XA 12,453,786
= 11,035,000
= 1,418,786
LEH LU= SSAHHIA X2 3,191,600 2,981,686 209,914
= 2,828,000
s 363,600
308 XXM SOl 3,191,600 2,981,686 209,914
= 2,828,000
[ 363,600
01 HXHHBAEES 3,191,600 2,981,686 209,914
OggHe itz =SAHIA X2 3,191,600
= 2,828,000
= 363,600
FUHESAHHIA 28 21 X 235,200 232,200 3,000
= 117,600
= 117,600

<o)
|




SRR

M mojol =XSA
Rl ZoHe! UHEAE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
308 XXM SOl 235,200 232,200 3,000
= 117,600
== 117,600
18 SIS0t HAS A 235,200 232,200 3,000
O=2asAHtlA 2Ze14 T 235,200
= 117,600
& 117,600
ST FAHESAHEIA & FIOKE ALY 282,910 404,158 A121,248
308 AFAIEHMSOIE 282,910 404,158 A121,248
01 XN EES 282,910 404,158 121,248
OggYe FAHESAHIA & FIHE 282,910
LEHR 2S5== AEA 635,656 441,543 194,113
= 424,135
== 211,521
307 elztol & 531,536 0 531,536
= 372,075
< 169,461
1 AMISXAIEEXS 531,536 0 531,536
LR S SS MM 2D (™
Jl2) 531,536
= 372,075
= 159,461
308 XXM SOIA 104,120 441,543 A337,423
= 52,060
== 52,060
18 SIS0t & A AS A 104,120 104,100 20
Oggzel 2S5 ANEAY 2SR (
X4) 104,120
= 52,060
= 52,060
ZIES 2EHY SEsAMEA X 3,017,101 0 3,017,101
= 2,639,823
= 377,278
307 glztol & 996,943 0 996,943
= 996,943
1 AMISXAIEEX 996,943 0 996,943
Oz|ST LEHMR 24A2t S5 HE L
AL 996,943
= 996,943
308 AtAIEMSOIE 2,020,158 0 2,020,158
= 1,642,880
= 377,278
01 AXEH B EES 1,954,158 0 1,954,158




SRR

B Zojol HXEX
oel: Zoe HEAH EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oz5S 2L =223 HE L
L= 1,041,144
= 800,880
[ 240,264
OXES L2Rjel FAHE 18 (Y
X2 (< H 913,014
= 809,000
= 104,014
18 SI[2S0tHet 4 A AS At 66,000 0 66,000
OzlSZ ¢ sess 2SN
S HllE 66,000
= 33,000
< 33,000
O AIEES 56,884,864 55,668, 164 1,216,700
= 42,807,808
= 14,077,056
ZOHRIHFAIE 2(5) 11,000 23,750 A12,750
307 212+01& 11,000 23,750 A12,750
11 AMEISXAEEES 11,000 23,750 A12,750
OHOHANFAIE QTN S = 11,000
ZOIHFAIE 2 XE(AZ, 29) 47,006,950 45,129,095 1,877,8%
= 41,651,730
[ 5,355,220
308 AXIHS0IA 47,006,950 45,129,055 1,877,8%
= 41,651,730
= 5,355,220
01 HASHHBSEXS 47,006,950 45,129,055 1,877,8%
OZMLUAFAE 2 K& 47,006,950
= 41,651,730
= 5,385,220
ZOHINFAIE 29 XA (A2, &) 128,754 128,754 0
= 114,086
== 14,668
308 AHXIEMSOIH 128,754 128,754 0
= 114,086
< 14,668
01 HAHHBSEEXS 128,754 128,754 0
OZOAANFAIE AHILA01EE XS 128,754
= 114,086
= 14,668
ZOHRIFAIE 2 X3 (EH) 367,024 239,632 117,392
= 90,680
=S 266,344

_11_




2A:

ZoHeI= X

=

M Zoje SXNSH
2l HOHR AIZES (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 367,024 239,632 117,392
= 90,680
== 266,344
05 212t =S 357,024 0 357,024
OILIHEOMHIEHH &X - 2 357,024
= 90,680
& 266,344
O HFAIE JISEH 1,196,437 954,693 241,744
= 497,904
= 698,533
403 TR SHMSAH=01H 1,196,437 564,693 641,744
= 497,904
=S 698,533
01 AXISHHA=2 2L 1,196,437 554,693 641,744
OFOHRINFAIL JISs22(SHIXRE) 846,437
= 497,904
[ 348,533
OFOLUNFAIE JISEZ(RHA) 350,000
ZOHRIAFAIE S XI&E 922,710 1,050,688 A127,978
308 AHXIHMSO0IA 922,710 1,050,688 A127,978
01 RSN B EES 922,710 1,060,688 127,978
ST ESTHE K& 204,192
OZOHANFAILSALAF ABIRF(HE2
24g) 412,058
OZOHANFAIZ2SRIA(IHL!) 306,460
ZOHRIAFAIE ZSIIEED| dE X 20,544 20,544 0
= 15,408
= 5,136
308 XXM SOIA 20,544 20,544 0
= 16,408
=S 5,136
01 XN B2 LS 20,544 20,544 0
OHMAHNFAIE SIEE)| ellgXS 20,544
= 15,408
< 5,136
gojelsxa =249 3,605,321 4,311,162 AT705,841
307 @120l & 3,495,321 4,258,702 AT63,381
05 git?(& = 3,413,177 4,176,558 AT63,381
OLEHMI=X2 229 3,061,923
OZA=X2t SR AL X 125,213
OB WEA K& 51,400
O2HXI=AF X 41,100
OFfeIsXI2t SSA K& 133,541

_12_




2A:

B Hool 2B
2l HOHR AIZES (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 AMEISXAEEES 82,144 82,144 0
Osgaat ssg N 55,144
OsgdieHEsHE N 27,000
403 AXIEHMSA=Z01d 110,000 31,500 78,500
01 MHAIHHA 222 110,000 31,500 78,500
OAlZ ZOHISI2 JIs2Z(deh) 50,000
OAlZ ZojelsA2 JIs2S(MAE) 60,000
Zojel e) - F=22S X 627,055 824,166 A197,111
308 XHXIEMSOIH 627,055 824,166 A197,111
01 HRHH B E2ES 627,055 824,166 A197,111
OFe! 12 X 101,625
OZoje =225 X 15,388
O =2ES 440,042
OFjeI=A2SHE 248 XIS 60,000
OZlje=2ESdE =28 XI& 10,000
ZNRIF2HES AL JISEZ 102,000 104,500 2,500
= 60,000
& 42,000
403 AXIEHMSA=Z01d 102,000 104,500 2,500
= 60,000
= 42,000
01 XM A=E £ 102,000 104,500 22,500
OZMHLIFAUESAIE JIsES 102,000
= 60,000
= 42,000
ZOHIXIZHEH 2 846,000 792,000 54,000
307 elzto| & 810,000 792,000 18,000
10 Al SXAAEEHE 22X 810,000 792,000 18,000
OSE+0SHUH 29 432,000
OSEHMHUIMLE0ISAN2LE 2S 378,000
403 AXIEHHSAH=201H 36,000 36,000
01 XIS A=E £ 36,000 36,000
OAlz HHIME0ISX2HEH JIs2d 36,000
JOHAAIE SAG MM 1,539,669 1,354,820 184,849
307 glztol & 348,870 300,480 48,390
10 Al2IS XA EEE 22X 348,870 300,480 48,390
OZOHIAIE BAX MRME(Z) 196,350
OZOHIAIE BAHA HUZAH|I(Z) 94,920
O AT AL AL HLME(E) 57,600
308 AFAIEHMSOIE 1,190,799 1,054,340 136,459
01 AX N B2 LS 1,190,799 1,064,340 136,459
OHOHAAIE SAAF HRME(AIZ) 659,987

_13_




2A:
PSR
ool

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZOHRIAIE BAHA HAHZAH|(AIF) 448,560
OZOHU TR AL BAER MLME(AIZ) 82,252
Zonel Al Ol O 30,000 30,000 0
308 XM SOIE 30,000 30,000
01 HAHHBLEXRS 30,000 30,000
OEAIE E0e &= XA 30,000
AL TSNS ASAE 491,400 491,400 0
= 378,000
=S 113,400
308 XtXIEMSO0IE 491,400 491,400 0
= 378,000
== 113,400
01 XN BSELS 491,400 491,400 0
OEAIE XEXE AIBA 491,400
= 378,000
S 113,400
oHe! X 17,948,990 3,201,504 14,747,486
= 1,715,137
= 11,233,853
= 5,000,000
ZONQIHOJAILE S 267,297 773,265 /505,968
307 @I2t01 & 267,297 241,965 25,332
10 Al SXAZEE 22X 205,426 180,978 24,448
OSgZMABASAII=X3LH 29 205,426
11 AMRISXAEEES 61,871 60,987 884
OH2AIE &X s X2 61,871
ZoHele| 2| 1,424,615 1,303,203 121,412
= 1,212,438
== 212,177
308 AHXIEMSOIE 1,424,615 1,303,203 121,412
= 1,212,438
< 212,177
01 HASHHBAEEXS 1,424,615 1,303,203 121,412
O&ojerel =zl 1,424,615
= 1,212,438
= 212,177
MASHOHR! &EHl & ZAH X2 25,297 18,336 6,961
= 25,297
308 AtAIEMSOIE 25,297 18,336 6,961
= 25,297
01 XN B2 LS 25,297 18,336 6,961
OMASE0HQ MEHl & S A 25,297




SA EOjOI= XDt
HH: Fojol SXEX

cHels ZO0He! HEXIH (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| 2 25,297
ZOHQ! MEOHY KR (AZTHE) 116,629 106,981 9,648
308 AHAIEHMSOIH 116,629 106,981 9,648
01 AXEHBSEES 116,629 106,981 9,648
OFOHQ! HEAFAMS(AZTHEXIR) 116,629
ST HEHA AHE 15,000,000 0 15,000,000
= 10,000,000
= 5,000,000
402 QI2F X201 & 15,000,000 0 15,000,000
= 10,000,000
= 5,000,000
02 QI X2 AL E R (01X THE) 15,000,000 0 15,000,000
Osgds Hega HE 15,000,000
=S 10,000,000
= 5,000,000
IR0 XA 79,124 79,124 0
= 73,604
= 5,520
308 XXM SOIA 79,124 79,124 0
= 73,604
== 5,520
01 XN BSELES 79,124 79,124 0
OZMAEEIID XA 79,124
= 73,604
= 5,520
O E2ET KA 55,845 55,845 0
308 AFAIEHMSOIE 55,845 55,845
01 AXEH B EES 55,845 55,845
O 2E7 =cIXIH 55,845
SEEE EX0DIHE Arellztel 231,520 222,750 8,770
= 115,760
== 115,760
307 elzto| & 231,520 222,750 8,770
= 115,760
== 115,760
1 AMEISXAIEEXS 231,520 222,750 8,770
OSEET EJDIHE Atgizel X 231,520
= 115,760
= 115,760
SEEL BR0PDIME A2l (X=2) 36,000 0 36,000
= 18,000
=S 18,000




SA EOjOI= XDt
HH: Fojol SXEX

cHels ZO0He! HEXIH (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
402 QI2F X201 & 36,000 0 36,000
= 18,000
== 18,000
02 QI X2 AL E R (0IHTHR) 36,000 0 36,000
OSEEE EXRIDIME Atellztel X (X
2) 36,000
= 18,000
= 18,000
NS EfeI2He B MY 2 540,076 532,000 8,076
= 270,038
S 270,038
308 XXM SOIA 540,076 532,000 8,076
= 270,038
== 270,038
18 SIS0t oA AS A 540,076 532,000 8,076
OXSAFHR BHoAZHH 2 540,076
= 270,038
< 270,038
HdSE2EEF 018 02 282 X2 97,587 0 97,587
308 XM SOIE 97,587 0 97,587
01 AXEH B EES 97,587 0 97,587
OXSEEF 0|880e 28z X2 97,587
el 2SMHE & S=H= N2 75,000 0 75,000
308 XXM SOIA 75,000 0 75,000
01 XN B2 LS 75,000 0 75,000
Ol 2sMHE & S=Ms X3 75,000
AH2AZYI(ZOHI=RI ) 58,040 57,077 963
Jl2Z (&= Xt 58,040 57,077 963
JlE2ZHI(Z0I=XI) 58,040 57,077 963
201 =3 25,600 25,840 A240
01 AtR2t2lt] 25,600 25,840 A240
OFeI=sX HRFH 25,600
202 04l 25,600 25,432 168
01 =LHA LI 25,600 25,432 168
OZe=sX JRFH 25,600
203 =] 6,840 5,806 1,035
03 A= PR FA| 3,600 2,565 1,035
OZH=X R 3,600
04 FAE2EERFAH 3,240 3,240 0
OZ=X HR2FA 3,240
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